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1. Is it possible to define rules of addition and multiplication such that the set (0,1,2) form a field.

2. Do problem 3.2 of Text.

3. Do problem of 4.1 of Text.

4. Do problem of 4.17 of Text.

5. Consider the system given by
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Determine 
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, where 
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 is a real constant. Determine 
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 for the present case. Notice that 
[image: image15.wmf](

)

t

y

 does not have any transient components.

6. Consider the equation of the pendulum 
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is the damping coefficient. See the picture below.
The equivalent system is 
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Linearize the system around the first two operating points.  
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